6.2 Multiplying and Dividing Radical Expressions

1) Multiply.

 $\sqrt{5} \cdot \sqrt{6}$ Since both are under the radical we can multiply them together $\sqrt{5} \cdot \sqrt{6} = \sqrt{30}$ (Type an exact answer, using radicals as needed.)

2) Multiply.

 $\sqrt{3} \cdot \sqrt{5}$ Since both are under the radical we can multiply them together $\sqrt{3} \cdot \sqrt{5} = \sqrt{15}$ (Type an exact answer, using radicals as needed.)

3) Multiply.

 $\sqrt{3} \cdot \sqrt{7}$ Since both are under the radical we can multiply them together $\sqrt{3} \cdot \sqrt{7} = \sqrt{21}$ (Type an exact answer, using radicals as needed.)

4) Simplify the product.

$$\sqrt{8} \cdot \sqrt{32}$$
 Both under radical $\sqrt{8 \cdot 32} = \sqrt{256} = 16$

5) Simplify the product.

$$\sqrt{2} \cdot \sqrt{8}$$
 Both under radical $\sqrt{2 \cdot 8} = \sqrt{16} = 4$

6) Multiply if possible. Then simplify.

$$\sqrt[3]{36} \cdot \sqrt[3]{6}$$
 Both under radical $\sqrt[3]{36} \cdot 6 = \sqrt[3]{216} = 6$

7) Multiply if possible. Then simplify.

$$\sqrt[3]{5} \cdot \sqrt[3]{25}$$
 Both under radical $\sqrt[3]{5 \cdot 25} = \sqrt[3]{125} = 5$

8) Simplify the expression.

$$\sqrt[3]{-12} \cdot \sqrt[3]{-18}$$
 Both under radical $\sqrt[3]{(-12)(-18)} = \sqrt[3]{216} = 6$

9 Simplify the expression.

$$\sqrt[3]{-32} \cdot \sqrt[3]{-2}$$
 Both under radical $\sqrt[3]{(-32)(-2)} = \sqrt[3]{64} = 4$

10) Divide and simplify.

$$\frac{\sqrt{500}}{\sqrt{5}} \qquad \text{Both under radical } \frac{\sqrt{500}}{\sqrt{5}} = \sqrt{\frac{500}{5}} = \sqrt{100} = 10$$

11) Divide and simplify.

$$\frac{\sqrt[4]{243}}{\sqrt[4]{3}} \qquad \text{Both under radical } \frac{\sqrt[4]{243}}{\sqrt[4]{3}} = \sqrt[4]{\frac{243}{3}} = \sqrt[4]{81} = 3$$



More complex radical expressions













$$\sqrt[3]{\frac{16}{2}} = \sqrt[3]{8}$$

i.

j. PERFECT SQUARES 4, 9, 16, 25, 36, 49 Divide all under radical $\sqrt{12x^5y}$ subtract exponents when dividing $4 \cdot 3$ $\sqrt{12x^5y}$ divide exponent by 2 (leftovers stay in) $2x^2\sqrt{3xy}$

